) dN/dy

NSD

(LN

Ratio to CMS

0.3

0.25

0.2

0.15

0.1

0.05

[EEY

0.5

7000 GeV pp NSD
[T rrrrrT o T e T | | IR
- ly[(A) (NSD, 1yl < 2) ]
— m CMS =
— —&— Pythia 8.308 default e
— —— Pythia 8.308 default-noFsr ]
— —— Pythia 8.308 default-noRap u
- = m m n m - . . . B
B m n
L ——4——% - ﬁ:‘:‘:‘:* -
C A A A — 4 A——h— 2,4
:| P I IR NI | P I IR NI | P I IR NI | P I IR NI |:
T e e e
I i s S e S

P TP T SR S P TP T SR S P TP T SR S P TP T SR S |
0 0.5 1 1.5 2

Rivet 3.1.10, = 2.6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


